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Warning: col ['FR'] missing
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Warning: col ['setVI'] missing
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3

BflE) | GEBRAK () | ERE(EA/K | EREE(B/R) [ XS EFRF

07:15 333 150.0 5.932 FA| FhHR@O7:15 KREIEHF (RAKLESR)
07:50 333 150.0 5.932 FR| FHA@O07:50 KRENFZF (KRFAIEES)
08:25 333 150.0 5.932 BH| FhHA@08:25 KENF2F (KRAfEREE)
09:05 333 150.0 5.932 FA| FHA@09:05 AFFEF (KRAEREE)
09:50 333 150.0 5.932 BH| FnHA@09:50 AHNIEF (ARFIEREES)
10:30 333 150.0 5.932 BH| FhHA@10:30 KENF2F (KRAHEREE)
11:10 333 150.0 5.932 FA| FnHf@11:10 REFFEF (KAERKSE)
11:45 333 150.0 5.932 PR FhHR@11:45 KRHMIEHF (RAKZESR)
12:20 333 150.0 5.932 BH| FhHA@12:20 KE1F2F (KRAHERSE)
12:55 333 150.0 5.932 FH| FnHA@12:55 KRENFZF (REERESE)
13:30 333 150.0 5.932 f|  FHR@13:30 KRHMIEHF (RAKLESR)
14:05 333 150.0 5.932 M|  FEA@14:05 KRENFZF (RFAEEE)
14:40 333 150.0 5.932 M| FHAe14:40 KREIZF (RAEEE)
15:20 333 150.0 5.932 M| FhHAe15:20 KREIZEF (RAEEE)
16:05 333 150.0 5.932 M|  FHEA@16:05 KRENFZF (FRFAEREE)
17:00 333 150.0 5.932 BH| FhHA@17:00 KEF2F (KRAERE)
21t] 5328.0 (16%) 2400. 0 I KEC: 2080.0, PH: 6.5

#HERECE (2197.0 vs 3768.0) i d 5




FRV (ml plant-1)

ET (ml/hr/plant)

P3_0, Day=56 (2025-05-31)
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P3

BYiE) | GEBATK () | ERE(EH/4R) | EREE (/R [ XS R

06:35 333 150.0 5.932 BH| 1BRi%@06:35 Bzh (RAERE)
07:25 333 150.0 5.932 FA| 1BRi&@07:25 B3h (KRAIEREE)
08:40 333 150. 0 5.932 FA| 1E2i%@08:40 B3zh (FkAIEREEE)
10:00 333 150.0 5.932 FA| 1BRi%@10:00 B3 (KRAEREE)
10:55 333 150.0 5.932 FA| {Ri%@10:55 Bz (CGRAEESE)
11:40 333 150.0 5.932 FA| 1BRi%@11:40 B3h (kAEREE)
12:20 333 150.0 5.932 FA| 1BRi%@12:20 B3h (RAIERESE)
13:10 333 150.0 5.932 FA| {Ri%@13:10 Bz (GRAEEE)
14:05 333 150.0 5.932 FA| 1Bi&@14:05 B3 (RAFEREE)
15:20 333 150.0 5.932 FA| 1B2i%@15:20 B3h (RAIERESE)
16:45 333 150.0 5.932 FA| {Ri%@16:45 Bz (GRAKEEE)
21t 3663.0 (11)%) 1650. 0 JEWHKEC: 2080.0, PH: 6.5

[E1;RECE (2220. 0 vs 3632.0) i 75 ‘
REBEEC (3080.0) SifzEfE (2080.0) REKKA, BHHE.

SGEBIPH (5.2) H5iREE (6.5) RERK, BHRE.
SOEBIPH (5.2) HERIEW (6.5 RERK, BEE.

#*
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P3_0, Day=55 (2025-05-30)
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